Using Properties of Parallel Lines cut by a Transversal:
Use properties of parallel lines to find the value of X.
Also, state your reasoning.

+4 =140
;zxﬁj s
ZX =I5k

:ax:@

x = 0> because x = |2, because x=_ 5 because
Al Ext. L's  covespordicd £S5 1 iabl LS

e CDV\O}mm:f‘ ave COf‘f\)i\hfﬁﬂ'\_ Qare cm%vu@/d’ |
J =

You Practice:

E )

4 Fe -
-

98 .

~ (%0 ~ 2F

(ox-2= 9%

A2 A2
\OX = L.
aTe) 'O
X=(1S
x= |0 because = \<_ because x= 5 because

abork s albed. LS conespording
are coraroend _aye Conguend LS are Congriadt
J - v




\> . 9.
NN

4x-2 +13s5 =180 S5x42 + 53 = 180

YT 103 = 18D
i__._____J

2 =180 X+355 = 180
“x T o =180 "H(‘H& __'%2' ) T2 T las

-1 =1o

SX =125

)
L\X#S

x=_5 because x=_12 because X = o> because

Same side ﬁx+ Ls _linear pair of hnear pmv: of

Qe SU\OP\OY\MW an odt.iny £ analbind £
%opp\ﬁm»dm\j = pplementary

\"\X - 76 ﬂﬁ& é

TICKET OUT:
- o lexr9riexrep
- (14x - 4}"}1’% _ —r e
T {(13x+2)° \
x=_(¢ because _H_because
vev"l’\m,é aJr\Q)f’S ag = lindak paAs At
gg\pp\fﬁn«ﬂiﬂf&‘y
X -4 = \2>7< ¥
~13X —IBK (X *-rci X +Lo = X0
X—4 =2
e +\-k \53( +1S -—‘XD
AN —\S

X =2




